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First question- Select the right answer 

 a)  The Photoelectrons emit from a metal if the incident photon energy  

(     less than   -       greater than       -     equal   )        the work function of 

the metal. 

 

b)  In Galilian transformation between two inertial frames the coordinate x , 

in which the frame s  moves with velocity  v  along xxaxes is given by 

(    x x vt          -      x x vt           -     x x        ) 

c)  The ether fills ……  

(the space between the earth and the sun    - the sun and the moon   - 

None of these – all the space) 

d) Shows in details  

The Lorentz Transformation Equations 
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Second question 

Discuss in details, using equation and figures : 

a- The Photoelectric Effect 
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B- The Compton Effect 
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3- Blackbody radiation 
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4- Heisenberg Uncertainty Principal 

 

 

Third question 

Shows in details: 

a) Length Contraction  



Answer of  Exam of Principles of Modern Physics 

 

 
 b)Time Dilation 

 
 

 

Fourth question 
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Write about Ruthford and Bohr Models of the Hydrogen Atom, showing 

the differences between these models? 
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 مع أطيب الامنيات بالنجاح والتوفيق

 

 

 

 


